All the listed Qs could be found in BOTH lab
files: Manual and Slides (in yellow)




Questions

 Take a screenshot of r2 (config-router) #network 172.16.0.0

uter) #network 172.16.0.0 0‘ 7 \
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 What is the IP address of the EIGRP neighbor router?

* What interface on the R2 router is the neighbor adjacent to?
Ve
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Questions

* Examine the Successors and Feasible distances in the routing table on
R2 (Take a screenshot) using show ip route command

172.16.0.0/16 is wvariably subnetted, 4 subnets, 3 masks
172.16.0.0/16 is a summary, 00:0%:43, Null(
172.16.1.0/24 [590/40514560] wvia 172.16.3.1, 00:11:19, Serial0/0/0
172.16.2.0/24 1is directly connected, FastEthernet(0/0
172.16.3.0/30 is directly connected, Serial0/0/0

192.168.1.0/24 [90/3014400] wia 192.1€8.10.10, 00:09:41, Seriald/0/1
/'/5

oo nog

192.168.10.0/24 is wvariably subnetted, 3 subnets, 2 masks
1%2.168.10.0/24 is a summary, 00:09%:43, Nulll
1%2.1€8.10.4/30 [90/3523840) wia 19%2.168.10.10, 00:09:41, Seriald/0/1
192.168.10.8/30 is directly connected, Serial0/0/1
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Questions

 What is the best path to PC1? ~
e D172.16.1.0/24 [90/40514560] via 172.16.3.1, 00:11:19, Serial0/0/0 /M (5

 What is the IP address and name of the successor router in this route?(The
IP address of a successor is shown in a routing table entry right after the
word “via” /
. R1IPaddress 1721631 o« !¢

 What is the feasible distance to the network that PC1 is on? (FD is the
metric listed in the routing table entry as the second number inside the
brackets)

e 40514560
) 6



Questions

e For the route from R2 to the 192.168.1.0 Network
* Examine the routing table on R1

172.16.0.0/1¢6¢ is wariably subnetted, 4 subnets, 3

masks

D 172.16.0.0/16 is a summary, 01:14:37, Nulld

C 172.16.1.0/24 is directly connected,

FastEthernet0/0

[B] 172.16.2.0/24 [90/40514560] wvia 172.16.3.2,

00:26:26, Seriald/o/0

C 172.16.3.0/30 is directly connected, Seriald/0/0

[B] 192.16e8.1.0/24 [90/2172416] wvia 192.1€8.10.6,

00:57:41, Seriald/0/1 }
1%2.168.10.0/24 is wariably subnetted, 3 subnets, 2 Cf;\

masks

D 122.168.10.0/24 is a summary, 01:14:37, Nulll

C 122.168.10.4/30 is directly connected,

Seriall/0/1

D 1%2.168.10.8/30 [90/3523840] wia 1%2.1€8.10.6, / E;/

00:21:28, Seriald/0/1 6:3‘

* What is the reported distance to the 192.168.1.0 network? 2172416



Questions

* Examine the routing table on R2

[B] 172.1€.0.0/1¢ is a summary, 00:28:45, NullO

172.16.1.0/24 [90/40514560] wia 172.16.3.1,

using the show ip route command o521, sexiziosors
C

172.16.2.0/24 is directly connected,

FastEtherne=t0/0
(o 172.16.3.0/30 is directly connected, Seriall(/0/0
D 192.168.1.0/24 [90/3014400] wia 192.168.10.10,

00:28:43, Serizalld/0/1

1%2.168.10.0/24 is wariably subnetted, 3 subnets, 2
masks
jB] 1%2.1€8.10.0/24 is a summary, 00:28:45, Nulld

I} 192.1¢8.10.4/30 [90/3523840] wvia 1%2.1¢8.10.10,
00:28:43, Seriald/0/1
C 192.1€8.10.8/30 is directly connected,

Seriall/0/1

J'%

-

* What is the feasible distance to the 192.168.1.0 network? 3014400 4 .'5
* Would R2 consider R1 to be a feasible successor to the 192.168.1.0

network? Yes 1 6

J



Questions

* Use the show ip eigrp topology network-address command to view
detail EIGRP topology information for the 192.16.1.0 network on R2

EE =1Qgry I gy 192.1ed.1.0
IP-EIGRP (AS 1): Topology entry for 19%2.168.1.0/24
State is Passive, Query origin flag is 1, 1 Successor(s), FD is 3014400
REouting Descriptor Blocks:
1%2.168.10.10 (Serial0/0/1), from 192.168.10.10, Send flag is 0x0
Composite metric is (3014400/28160), Route is Internal
Vector metric:

Minimum bandwidth is 1024 Ebit
Total delay is 20100 microsecon ds

Reliability is 255/255
Load is 1/255 \ )
Minimum MTU is 1500 C)

Hop count is 1
172.1€.3.1 (Serial0d/0/0), from 172.16.3.1, Send flag is 0x0

Composite metric is (41026560/2172416), Route is Internal

Vector metric:
Minimum bandwidth is €4 EKbit
Total delay is 40100 microsecon ds
Reliability is 255/255
Load is 1/255 s
Minimum MTU is 1500

Hop count is 2 ,) Z)
oA ﬂ
* How many successors are there for this network? One

* What is the feasible distance to this network? 3014400 2 'S




Questions

* What is the IP address of the feasible successor? 172.16.3.15' 7

* What is the reported distance (AD) for 192.168.1.0 from the feasible
successor? 2172416 - "

e What would be the feasible distance to 192.168.1.0 if R1 became the
successor? 41026560 - 4



Questions

* Examine the routing table of the R3 router using show ip eigrp
topology (Take a Screenshot)

 Why is the R1 router (192.168.10.5) the only successor for the route
to the 172.16.0.0/16 network? s

* R1 router has a better metric or higher bandwidth 0

D 172.16.0.0/16 [90/2172416] wvia 1%2.168.10.5, 4
01:23:01, Serial0/0/0 WV )}
z 192.168.1.0/24 is directly connected,
FastEthernet0/0
192.168.10.0/24 is wvariably subnetted, 3 subnets, 2
nasks
D 192.168.10.0/24 is a summary, 01:23:01, Nulld
- 192.168.10.4/30 is directly connected,
Seriall/0/0
o 1%2.168.10.8/30 is directly connected,
Seriald/0/1

R3#



Questions

* From each PC, ping the other PCs’ IP addresses and take screenshot
* You should be able to ping other pcs in different subnets

* One loss out of 4 is OK, but more than that means you have connectivity or
configurations issues




rom PCO ping PC1 and PC2

¥ pco — O X

Physical  Config Programming  Aftributes

Rl A
Command Prompt

Packet Tracer PC Command Line 1.0
C:\>ping 1 16

.10 with :

trip times in milli-
Minimum 1 5, Maximum = 17ms,

ping 19

Pinging 192.1




From PC1 ping PCO and PC2

¥ pc1 — O X

Physical ~ Config Programming  Attributes

mand Line 1.0

und
dms, Maximum =

.1.10

1.10 with




From PC2 ping PCO and PC1

¥ pc2 — O 4

Physical  Config Programming  Atftributes

16€.1.10 with 1 .5 of data:

time=2
time=1lms

(0% loss
1ds:
Minimum = 1lms

\>ping 17

Pinging 172.1

Reply

TTL—=12
TTL=126

ound trip time
= Ims, Maximum =




